Jobgoooobooobogobooon
HEN

gooooboooooood

b 23030160



10
1.1
1.2

20
2.1

30
3.1
3.2
3.3

40
4.1
4.2

50
5.1
5.2
9.3

60
6.1
6.2
6.3

70
7.1
7.2
7.3

good

ooo
I

oooooood

goooogd
N
oooooobooooboobooog oo

oood
ADCOOOO . oo e
TDCODOODO . . . oo e e e e e

53.1 TOFDOOOO ... ... .. ...
53.2 O0000O0OD0OOD0O ... ... oo ...

ooooogd

I U
I 1
P

goooo

N
I
OO00000O00000 CAMAC . . ... o000
731 CAMAC. . . ... o
732 0000000000 ... .. ... .. ...

10
10
11
12
12
12

14
14
17
18



74 ADCOOODOOODO ... e 25

75 TDCOOOOODODO ... .. e 26
76 TDCOODO ... e e e 27
0 I 30
7.8 TOFOODO ... e 31
781 TOFODODOO ... ... i 31
79 TOFODODO . ... 32
791 TOFOODO . ... oo e 34
79.2 TOFDOODO ... .. ... . . 40
710 00000000000 . ... 000 o oo 42
7101 OO0OOOOODODOO0O .« ... 00000 0. 42
7102 O0O0OO0O ... 0 oo 43
7103 O0O0O0O0O ... oo 49
o8no O4OO 51
8.1 OO . .. o 51
82 DOODO .. . o e 55
83 OO .. 55



10 oot

1.1 0O00d

obooooooboboooboobooooooboOoooooooobon
obooooboooboooboooboooobooobobooooboobooooboooobo
ooobooobobooboooboooboobobooooobooobobooDboon
gbooooboooobobooooboooobobooooboOoboooon
obooboooboooooboobooooobobooobooboooooobon

1.2 OO0OO0o0O0

obOobooobooooooboobooobooobooboooobooboooo
gboooooboooobobooooboooobobooboboooo
gboboooboboooobooboobooboobboooooooboooboon



020 000

21 0000D0OO

oboooobooooboboooooboooobooboooooboon
obooooobooooboboooobooooboboobooboooon
gboboboobooboobooboobooboobooboooooboboooon
gbooooboobobooobooboooobobobooooobooboooon
oboooobooboooboobooooboooobooboooboOobooon
oooooboooooooooboooooooooobooooobooooo
gbobooobobooosotbtbabOObOO0OO0ODOOOOOOOOOODODOOnOOn
gbooooboooobobooooboooobobooooboooon
obooobooboooooooobobobooobooboooooboooboon
ooooobooooooooooboonUbOOO0OO0O0ObOOOOODObOO0Oon
gbooooboooobobooooboooobooboooboOoboooon
booooboooobOobooooboooobooboobodgy ooo
obooooobooooobooboboopbO0bOobOoboobOobObooooDbo

g

=
A
¥
¥
i

021000



030 Ououotood

gbooboobooooboboooobooooboobooooboon
obooooboooobOobooooboooobooboooOobooon
oboooobooooobobooooboooobobooboboooon
gobooooobooooobobooooboooobobooobooboooo
goooon

3.1 OO

00o00o0Doo0oooooooooooDoooooooooooooon
00o00dooDOo0ooo0boo0oUdoDOoU0ooooOoDoooOooooon
O (Tonization) 0000000000000 0O0OOOOOOOOOOOOO
0000000 (Co0o0)o0o0D0oUooO0O0DUO0DO0DLDO0o0OOoO0OO0
(Excitation) 00 0 0000000000000 O0OOOOOOOOOOO
0000000000000 U0oU0ooDOoooooOoOoDOooooon
O (Tonization loss) 00 000000000000 0O0DO0O0O0OOOOOOO
Bethe- BlochOOOOGOGOOOd

dE

9B 4n N, r2mec?p5 2y [In(2merv, Wnaz ) _ 9521 (3.1)

5

obooonNOOOobOOoOoOoobooboboooboooooboooooo
gbooooobooooboboooobooooboboobooboooo
gboobdm.,0000000O000CO0OO0 %DDDDDDDDDDD
0000000000 v=p cOODOO0O0OOOODODOOOOOOOOOOO
O0Op O0O0OD0OOBethe- BlochOODO

9= o g (3.2)

000o0000o0o0oOo0oo0oO0oOoOoooooono /g 200000
0000000oooooooooooOoO0000O0 Minimum ionization 0O
gobooobooboboboooboobooboooooboboobooooobooooo
000000000000000000000000000R%?2=10000
(3.1)00 log00OO0OOU0UODOOOUOODOOOlogy DOOODOOO
obooooboooocood



2
4 log[ﬁ] (3.3)

B E

’y: /1_62 Me
oooooooooooooooobooooooOoOobOOO00O0000o0oad
000000000000 000O000000000O00000 (Sintillation)
gboooboobooboobooboobooboobooooooboboooon
ooooon

3.2 0000

oboooobooooobooboooobooboooobooboooooon
gboooooobooooboboooobooobooboboobooboooo
goboooobooooobooooboooooboooboobobooooobooooon
gbooooboooobobooooboooobobooboOobooon
oboooobooooobO zo0oooboboooboobo n,O0OOO0OOOO
DDDDDDDDDDDD(i)QDDDDDDDDDDDDDDDD 200
gbooooboboooboobooboooooboooooobooooon
bobooobooboboooboobooooboobooooobooooon

goboboboobooboobuooboobobbobooboaod

27‘2

Y e L

000ONOOOODOOOO0O0000 (N=20)0E00000000
2

0000, 00000000 (re=-25=281x10"¥)0A000000

00N, ODDODODODOD (6.02x102¥)0p00000000000000OD0O

0000000000000000000000 100000000000

0000000 (radiation length) D000 (3.4) 0000

dE _ dz

E xo

gobogbooobboezobbooboaboand

3.3 Uuuunobbouooooobbbuooooa

gobooboobooobooboobobobon

AFEyev = %fracMevg/ch X pg/em?) x tem)

obooooooboooooobono

4E = 2.079
p=0.89



oobo0O0ooooooooOoobooooob lemObOOCOO0OO0OOOOO0ODOO

AE =2.079 x0.89 x 1 =1.85Mev



040 000000

4.1 0000000000

obooooboooobOoboooooboooooboobooooobon
obobooooooboooobooboobooobooboboobooooboooobo
obooboooooboobooboobooboooobooboooobooooo
gboooobooooboboooobooooboboooboOoboooon
obooooboobooobooboooobooooboobooboobooon
gbooooooboooobobooooboooboobobooboboooo
gbobobooobooobooobooooboooboobooooboooono
gboooobooooboooooobobooogoobooon

1518

=

ﬁ’”‘ 9): L
A% ‘\ m\ —
I\ —

—

BTIHREREA )

041: 000000



4.2 U0O00O0O0O0OO0OO0OOOObOOOOOOOO

gbooboobooooboboooobooooboobooobooboon
gboooobooooboboooobooooboboooboOoboooon
obobooobooboobooobooooooooboboooooboOoooon
obobooooobooboboobo0o0 RUdooUOODODODOOOOO
gboooood

00 15.9 & 0.4mm
000 11.5 & 0.4mm
ooooooo 9.4 + 0.4mm
000000 BA(DDOOOO)
0000000000 5.4nsec
000000000000 |1000V(0000000000000000800VvOO000)

#15.9+0.4
WEE ABE
48 MIN. 29.4£04

i
i
1
i
P
+
'
i
i
f
-

#EER A I —

’
115+0.4

-
-

. .__ ; c;)
$54+03_ | | =
w o
{AIEE ~
0 4.2: 00
KEE
e
TLVRTTY
-l
UL WL UL
M‘/I/ﬂ:‘/i» FF FFF
AL e i it
g g
R i

R
7JL7-7/—F/TTT

043 00000000000000O000O0



s oo

5.1 ADCOOOO

oboooobooooboobooooobobooobooboooooboon
000 ADC(OD0D0O00O0O0UO0OOO)0000O0O0OOUoOO ADCO Q
oboooooobooooobobbooooooooobobooooboooo
00000000000 000QUOD0 (0000 ADC)OUOOGATEO
oboooooboboooooboooobooboooonog

1

=]
"

i

QE—F

Gate

O 5.1: ADCOODOO

10



5.2 TDhCOOOO

Time to Digital Converter 00 0000000000000 O0ODOOOOO
gbodboobobooooboobooboobbooooobooooboooo
gbooooooboobooooooboobobobuobobobooboboooo
000000000 TDCO REPIC OO Rpe-060 O (25psec/countselect) O
goo

start

fime

stop

O 5.2: ThCOOOO

11



5.3 TOF
5.3.1 TOFOOODO

TOFOOOTime Of Flight 00000000000 0OOOOOOO (OO
00000)0000U0U0O00oOoO0o00D0UoooOoO0OoOoUooooOoo
oboboooooobobooooooobobooooooboobobooooo
gbooboobooooboooooobooog

5.3.2 0O0OO0OOOOOODO

P

Y

0530000

000000 v0OOO0O LOOOOUOOO0OO0OO0OO0oOoooo (TOF) O too
oboooooooo

~
I
|| el

gbooooooooboo

E? = P2 + (mc?)? (5.1)

goooog

12



=l ()2 -1
. 1
—md<w)1
= [pely /()2 1 (52)

(52)000 mc2 000 0, 0000000

Omc?
Tmez = \/ ( ot )20t2

pel - S(<t
(£ -1

O00UOow.:0 o(00000)0000000000, 00000000

goboboooboooboobooboboooboobooboboboooboo

gobogbooan

13



el OUOOOOO

6.1 U0OODODDOO0OOOODODOOO

obooooboooooboobooooboboooobooboooooboon
obooooboooooboboooobooo

Jem

it =

0 e6l:0000000000O

AR =
KEFHEE
. ) ( 1
- 1 LinerAmp | Discri
S€C
B ]

200nseg

125nsec W m

062 000000

14



(H)ODDOOODOO0OO0OO0O0O0O0O (scintilation counter)

A1

g 63 0000000000000

goooooooooOooooboooooooboooooobooooon
gobobooobooboobobooboaobooboooboboaboo
goboboobooboobooboobooboobooobobooobo
gboooobooooboboooobooooboboobooboooon
gboboobooboboooooboooooobobooooobOoooon
gobobooobooboobobobooboaobooboooboboaboo
gobgobooboobgooboobobooboobooboooboboobo
gbbooobooooooboooooboooooobooobooooOooooon
Ob00O0Onsec000000O0O000O0O0OO0OOOOOODOOODOOOOO
0 (0o00o0o0D)Do0oU0oO00DO00DO0O0OoO0DoOOOo
000000o0oOoOo0o000oooOOo0o000ooODoDO (Doooooo
0000)00o00U0oO0o0O00ooooooooOoOoTOFOOOODOOO
oboooooo

(2) 000000 (Photomultiplier)

gboobooboooboobobooboobooooobooooon

(3) 000000 (liner amp)

0 64: 000000

gbooooooooboo
(3) 0000000000 (discriminator)

Discri

g 65 0000000000

000000000000 ThresholdDOOO)0O0OODOOOOOOOO
0000oo0oo0o (bo0)ooooU0ooOoooooooooOoooo
gbooooboooobOobooooboooobooboooOobooon
000 Threshold(50mV) 00 O O0D0O00OO0O0OO0O0OO0OOOOOOO

15



(4)0000000 (coincidence)

g 66: 0000000

gobobooobooboobobooboobooboobobooon
gobooooaon
(5)0 0000000000 (Gate and delay Generators)

O670000000D0OOO

ggodobbobodooobobbboboooooobobbuooooobo
goboboobo0ob0o0obOo0obOg 100nsecdognog

(6)ADC(Analog to Digital Converter)

goboboooboobuooboboboboooboobuoobuobobooo
0ooooQOoOOOoooog

(7)TDC(Time to Digital Converter)

gbooob200b00bo0ooboob0oobooboboobooobooboon
00o0o00bOoOoOoO00bOO00oDOOooboOOooobooooooOono TDe
0O 25psec/countselect 0 O 0 O

16



6.2 UULOOOLOOUOOOUUObOObOO

AT =5
AEFELE

15cm 3cm

I10m - I1cm

< 30cm . i Jem :

DUSSE P R

el i

0 6.8:

obooooboooobooboooobobooobooboooooboon
oobooobooooboboobooboooboooooobooooboooooDoon
0000000 AQODOOOOODOCOOOO AlDA200000000 BO
oOoooooOoooob B1IOB200O00O

17



6.3 UL

00000000000 0000000 AlDA20B1OB20000O00O0O
oo0o0OO0O000oO0OooooOOoOO0OO00O0OoD A00Ooooooooo
BOOOOOOOOOODOOOOOODOOOOOoDOOo

A2

B2 B1

Al

\Z

069 0000

00 B1OODOOOOOOOOOOOOOODODOOO ADCO Gated TDC
OStart 0000000 B1IOOOOOOO

Disei

TR

LinerAmp iscri

0 6.10: 0OO0O0OO0OO0OODOOO

18



70 OOoO0On0d

7.1 OOoooogg

1, 000000000000000 30000000000000000
2,CAMACOOOODODODODDODO UNIXOODOO
3ADC,TbCOD0O00O00D0OOOO0ooooooDn
4,TbCcO0dgooooon

50000 ThCOOOoOOoOooOOoOoOooDoOooOoooooOvooooao
6, 00000 vOoOOOoOoooobooboboboboobooboooo
gbooooooooo

7, 0000 ThCOOOOOTOFODOOOOOO TOFOOOOOOOO
oboooooog

oboooboooooooboooooooo

19



72 OJU0U0Ooooooon

— ~
B EASHT-HE .
1cm
1
—_—
0.5cm
A2
7.5cm 1
7.5cm
A2
7.5cC
15cm 1
15cm
A2
e
22 5cm
|1
22.5cm
A2
ﬁ B1
1
- 29 .5cm >

102X DECE THIZE

O 710000000000

20



73 U0DOO0OODOOO CAMAC
7.3.1 CAMAC

CAMACOODOODOODOOOOODOOOOOOO0ODOOOOOOOOOoonaOg
gbbodooobooboooooboobooooobooooooobooooa
0000000 NIMOOOODOO ESONEDOOODOODOOODOO
O0DOCAMACOOOOO0OOODOOODOOO0DODOOOOODOOOOOO
gdoboooouoooouobuooooboouoboouooboooo
bbb ooboooooooboboooa
do0ddbdoooooobooooooboboobooobooooboooooa
gbob0ddoooboooooobobobooooobooooooobooooa
DDDDDDDDDDDDDDDD(DDDDDD)DDDDDDDDDDD
gbdboodoooboooooooboboooobobooooooobooooa
gb00dddooboooooooobboooooboooooooobooooa
0o0000000ooOoo0o0oobOo0oO00 CAMACOOODOOOOOO
gdob0oooooooooboboooooooouooooooooon
ool ooooooooooooa
0000000000000 D00D00Db0D0O0 CAMACOODODOOOO
gdoboodouoooouobuooooboouobooouooboooo
OODOCAMACOODOOODOODODODOOOOCNAFODODOOOO
O0O0CUO crate controler OO0 OOcrate0 100000000000O0C=10O
N O station number0 A O subadressU D OO0 000000 O0OOADCOO
000 12000000000FD0 functiond 0000000000 OOOO
0000000000 Leok At MeOOODOOODOOODOOODODOODOO
gbd0ddoobooooooobobobuoooobbooooooobooooa
ogoooooooooon

F(0), F(2); ReadData
F(8);TestLAM
F(9);ClearLAM
F(24); Disable LAM
F(26); Eanable LAM

21



7.3.2 OUO00O0OOOOOOO0
gbooooobooooooboooooan

/*%*xxx muon-daq.c ***** created 2002/Dec./25th Kenkichi Miya. skskkx
* Original version was written by S.Ono 2002/Jan./27th
* This is simplified version having only CAMAC control/IO part.
* LAM clear was moved to outside of "if(q!=0)". 2003/Jul./9th

/**x%* original title comment **xkx
Data taking test program
2000/ 1/27 S.0no & A.Tango

*****/

#include <fcntl.h>
#include <sys/time.h>
#include <unistd.h>
#include <sys/types.h>
#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <math.h>
#include <sys/errno.h>
#include "camlib.h"
#include <time.h>
#include <netinet/in.h>

FILE *fp; /* The file to save the taken data.*/

int main(){
int i_ev, n_ev;
int q,x,datal,data2,data3,data4,datab,data6,data7,data8,data9,datall;
int cadcqn;
int ctdcqn;
int chl,ch2,ch3,ch4;
int Nrec;

cadcqn=1; /* ADC-Qmode module number */
ch1=0;
ch2=1;
ch3=2;
ch4=3;

ctdcqn=4; /* TDC module number */

* Ask the file name to save the taken data.
* Also open the data file.

char fname[36];

printf("File name to save data?\n");
scanf ("%s",fname) ;

fp=fopen(fname, "w");

/*=====
* How many events do you take?
,====xk/

printf ("Number of events?\n");
scanf ("%d",&n_ev);

* Open CCP interface device file.
* If it fails, exit.

if (COPEN()){
printf("ccp open error\n");
exit(-1);

}

/*=== =
* Initialize CAMAC.

CSETCR(0) ;
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CGENZ () ;
CGENCQ) ;
CREMIQ);

int lamsrc=cadcqn;
int lamsrc2=ctdcqn;
// int lamch =0;
int lamch =0;
printf ("LAM source: %d, %d\n",lamsrc, lamch);

/*Kkkkk ADC**k* k% /
CAMAC (NAF (lamsrc,lamch,26) ,&datal,&q,&x); /* F=26 is enable. */
CAMAC (NAF (lamsrc,lamch, 9),&datal,&q,&x); /* F=9 is clear. */

CAMAC (NAF (cadcqn,chl,26) ,&datal,&q,&x); /* F=26 is enable. */
CAMAC (NAF (cadcqn,chl,9) ,&datal,&q,&x); /* clear LAM. */

/skokokokokk TDC ok kkokokok /
CAMAC (NAF (lamsrc2,lamch,26) ,&datab,&q,&x); /* F=26 is enable. */
CAMAC (NAF (lamsrc2,lamch, 9),&datab,&q,&x); /* F=9 is clear. */

CAMAC (NAF (ctdcqn,chl,26) ,&datab,&q,&x); /* F=26 is enable. */
CAMAC(NAF (ctdcqn,chl,9) ,&datab,&q,&x); /* clear LAM. */

/*=====
* Again send enable command to prepare the first event.
k=====xk/

CAMAC (NAF (lamsrc,lamch,26) ,&datal,&q,&x) ;
CAMAC (NAF (cadcqn,chl,26) ,&datal,&q,&x); /* F=26 is enable. */

CAMAC(NAF (lamsrc2,lamch,26) ,&datab,&q,&x) ;
CAMAC (NAF (ctdcqn,chl,26) ,&datab,&q,&x); /* F=26 is enable. */

/*=====
* send message to the user.
,=====%/

printf ("CAMAC initilize done.\n");
printf ("Number of event = %d\n",n_ev);

[*====
* Event loop.
k====%/
i_ev = 1;
while( i_ev <= n_ev )
{
/*===
* Address clear for FADC
J—
CAMAC(NAF (cadcqn,chl,9) ,&datal,&q,&x); /* F=9 LAM clear. */
CAMAC(NAF (ctdcqn,chl,9) ,&data6,&q,&x); /* F=9 LAM clear. */

do {

CAMAC (NAF (lamsrc,lamch,8) ,&datab,&q,&x); /* F=8 is test LAM.*/

//

// one LAM source should be used. 2011.01.28 Hayashii

// CAMAC(NAF (lamsrc2,lamch,8),&datal0,&q,&x); /* F=8 is test LAM.x/
} while ( g==0);

* If no event comes yet, q is set to be O,
* otherwise, the digitized event is there!

* Read the digitized data from the register.
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k————k/

printf ("Event= %d\n",i_ev);

int qq;

/F Ak KKKk AD Gk kK sk kK ok kK ok ok ok KKk kK ok [
CAMAC (NAF (cadcgn,chl,2) ,&datal,&qq,&x) ;

printf("i_ev, datal, q, x = %d %d %d %d\n", i_ev, datal, qq, x );
CAMAC (NAF (cadcqn, ch2,2) ,&data2,&qq, &x) ;
printf("i_ev, data2, q, x = %d %d %d %d\n", i_ev, data2, qq, x )
CAMAC (NAF (cadcqn, ch3,2) ,&data3,&qq, &x) ;

printf("i_ev, data3, q, x = %d %d %d %d\n", i_ev, data3, qq, x );
CAMAC (NAF (cadcqn,ch4,2) ,&data4,&qq,&x) ;

printf("i_ev, data4, q, x = %d %d %d %d\n", i_ev, data4, qq, x );

/*kkkkkkkkkTDC** *% /
CAMAC (NAF (ctdcgn,chl,2) ,&data6,&qq,&x) ;

printf("i_ev, datal, q, x = %d %d %d %d\n", i_ev, data6, qq, x );
CAMAC (NAF (ctdcqn, ch2,2) ,&data7,&qq, &x) ;
printf("i_ev, data2, q, x = %d %d %d %d\n", i_ev, data7, qq, x )
CAMAC (NAF (ctdcqn, ch3,2) ,&data8,&qq, &x) ;

printf("i_ev, data3, q, x = %d %d %d %d\n", i_ev, data8, qq, x );
CAMAC (NAF (ctdcqn, ch4,2) ,&data9,&qq,&x) ;

printf("i_ev, data4, q, x = %d %d %d %d\n", i_ev, data9, qq, x );

fprintf(fp,"%d %d %d %d %4 %d %d %4 %d\n", i_ev, datal, data2, data3, data4
, data6, data7, data8, data9);

* Update the event counter(i_ev), and send mesage for
* every 100 events.

if ( i_ev)100 == 0 )

{
printf ("Event= %d\t",i_ev);
printf("datal= %d\n",datal);
printf("data2= %d\n",data2);
printf ("data3= %d\n",data3);
printf ("datad= %d\n",datad);

printf("data6= %d\n",data6);

printf ("data7= %d\n",data7);
printf ("data8= %d\n",data8);
printf("data9= J%d\n",data9);

}
Nrec=0;
CAMAC (NAF (lamsrc,lamch,9) ,&datal,&q,&x) ;
CAMAC (NAF (lamsrc,lamch,10) ,&datal,&q,&x) ;
CAMAC (NAF (lamsrc2,lamch,9) ,&data6,&q,&x) ;
CAMAC (NAF (lamsrc2,lamch,10) ,&data6,&q,&x) ;
i_ev++;
}// end of event loop
/*=======
Instructions for termination.
*=====*/
CAMAC (NAF (lamsrc,lamch,24) ,&datal,&q,&x); /* F=24 is desable lam.*/
CAMAC (NAF (cadcqn, chl,24) ,&datal,&q,&x); /* F=26 is enable. */
CAMAC (NAF (lamsrc2,lamch,24) ,&data6,&q,&x); /* F=24 is desable lam.*/
CAMAC (NAF (ctdcqn,chl,24) ,&data6,&q,&x); /* F=26 is enable. */
CCLOSEQ) ; /* CAMAC close. */
fclose(fp); /* Close data file.*/
return 0;
}
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7.6 TDCOOO

ADCOOOOOOCOOOTDCOOOOOOOOOODOOODOOOTDCO
OO0 ADCOOO0O0O0O00O0O0OO0OODOODOODOOOO

Vth

Common stop
start
ADCO{EA X ZVFDTDCOIE

——————————> ADCO{EANENVEDTDCOHIE

O 75 TDCOOO

OO0 ADCOOO0O0O0O0O0OO0OTDbCOOOOOOOOOOOOOOOOoOO
oOooTbCcOO
OO0O0ADCOO

D 100

ENTRIES 1857

[ 0.00 [ 510 ] 0.00

400 [ 0.00 [ 0.181E+04 | 0.00

E 0.00 | omoa ] 0.00
300
200
100 -

{
o [
-100
—200 -

B b b boni Lo b v Lo by

0 250 500 750 1000 1250 1500 1750 2000

076000000 TDC

27



gbooooobooooobooooooon

1L,ADCOO000000000CCOO ThCOOOoOoOoOoogg Fritooo
2,Fit000000o00ooooooooobooooooon
3,0000000000000000 FitDOOFitOOOOODO parameter

oooonO pPiopP20P300O0O0O

A10A20B20 TDCOOOOOOOOOOOOO parameter 00000

ooooo
parameter Al A2 B2
P1 732.0 | 743.4 | 171.4
P2 86.97 | 102.2 | 100.3
P3 1704 | 1591 | 1645

FitOOooOooooooooo

E 1 n n 1 n
500 1000 1500

n 1
500

n n 1 n
1000 1500 2000

O 77 PIOP2OP30O FitOOODOO

28



4, 00000000000 A,R,P,O0000 TDCOOOOOOODO
00000000000 0O0ODO0O00OOOD0OO AlDA20B2000000
goooogo

oooTbcOoOd

oooADCOO

E Yy E
2000 F S 2000 £
1750 F H 1750 £
1500 £ 1500
1250 1250 £
tooo B 1 1000 B 1 L
0o 500 0 500 1000 1500 2000
T
E w5 3
2000 £ sl 2000
1750 F 5 1750 B
E 1 E s s |
1500 F 1500 F
1250 F 1250 F
1000 _— 1000
0 500 1000 1500 2000
£ i £
2000 £ sel 2000 E
1750 F H 1750 £
1500 F 1500 F
1250 £ 1250 F
fooo 1 1000 Ea 1 L
0 500 1000 1500 2000 0 500 1000 1500 2000

078 TDCOOOO (0)0O00OO (O)

OoooADCOOOOOOOO0O0OODOOODOOOOOOOODOOOO
ooo0TbCcOoOoOooOooooo

29
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7.8 TOFOOO
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7.9.2 TOFOUOO
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